=
ba
b
[l
i

AHEE 2011 B

fa= @ F=H2X (&= @ H
Ao & At of & A=2d

=& H (A) 47,527,331 =Y AH(A") 840,000 =& A (A") 84,331,038
gg=9 44,514,115 Y =9 44,514,115
FH e+ 3,013,216 A9 3,013,216
Olg= 35,963,707
AAzds+g 840,000 |Ar=2d0iz+=g 840,000
Xl =2 (8B) 43,750,758 X=AH(8") 15,004,552 XI=H(B") 59,357,310
FIHE 42,878,258 FAHE 42,878,258
FHAHIE 80,500 FAAHIE 80,500
Sg&4d 20,000 SE&d 20,000
OlE= 602,000
JtS &l At 12,704,552 |Jt = &8I Aot 12,704,552
HesEHdes 1,800,000 |HI=S2Mae&= 1,800,000
ol gl 8l 772,000 |0l 14 500,000 |0l 1,272,000
Xt QI(A - B) 3,776,573 | X QI(A'" -B') |A14,164,552] Xt QI(A" - B") 24,973,728




=
Q
2
e
P
[l
au

BAnE ;| Faex (g9l : @a)
> 9 9 = x & 9o ¥
Al & ni; = = OH Al & ni; = = oH
% &f 4= 2 A 44,514,115 | 9oy 2 A 42,878,258
=R el 43,130,115 24 L F 25,223,158
S4B A2 1,300,000 PSS 7,521,475
JIEtE 4ol 84,000 b - Sl 5,334,064
o 9 @] 4= 0 A 3,013,216 Btz 1,456,597
22 0| Xt 2,456,000 LU LrIt22H| 2,042,964
Et3l A E 242 437,216 Z 42 AHHI 1,300,000
et g+ 120,000 | 9oioy = Al 80,500
Xl =0l &t 80,500
sg Al Al 20,000
SPIESIRSp = FE P 20,000
ol 51 Hl Al 772,000
0fl 5] Bl 772,000
g A (A) 47,527,331 & A (B) 43,750,758
golz=old(Xeaadd)(A - 8) 3,776,573




,100,000,000& % 1

)-(700,000,0002! x 14!)

SIHYEE 2011 &
CREEIE £ PH
2 N aCsy
SAHTE  AEEZ crol )
=2 =
= 8|2 s
s . = Wa |G | R
Al 48,367,331 47,967,331 400,000
47,527,331 | 47,127,331 400,000
44 514,115 | 44,114,115 400,000
1,300,000 900,000 400,000
1,100,000 700,000 400,000




SIAE ¢ 2011 &
OatpE o EH2R
2N AEHED - B4y
sPE Ak algss Chel : M
o S B 8 2 3
H =)
2 -8 - Ag-= R e | R
g Al 43,750,758 | 42,727,863 1,022,895
700 &==ZAtEHIE 43,750,758 | 42,727,863 1,022,895
710 SIS 42,878,258 | 41,855,363 1,022,895
712 =4l 7,521,475 7,471,035 50,440
200 2L 5,206,688 | 5,149,383 57,305
201 Ler29y 508,744 541,439 ~32,695
01 At 2teldl 223,489 236, 184 212,695
O 2 e S AF(1S014000) AL 22| AAH]
(1,760,000& x 12])-(3,000,000& x 13]) = 21,240
O +52 BILIAN g2
(502 x 320, 1000H)-(702 x 320,0000H) =  A6,395
O USHOAAY SAX P DS
(0&)-(750,000& x49) = 23,000
O OILIXI ChAHI AFRIXF REH)
(17,940,000 % 141)-(20,000,0002 x 14}) = 22,060
02 =329l 277,255 297,255 A20,000
O g2 HMOAIZE S22
(0&)-(20,000,000& x 13]) = A20,000
207 =& w8l 3,020,656 2,930,656 90,000
05 JIEfw HHI 3,020,656 2,930,656 90,000
O B4% ¥ Hi+X gol+4Y)
(100,000,000& x 294 2 )-(50,000,000% x 200 A ) = 100,000
O MBS A 10,000
= (02)-(88,746% x56.34m") = 25,000
HIJl=Xcll (0&)-(5,000,000& x 1&1) = 25,000
300 Zo01A 47,879 54,744 26,865
301 Let2d= 47,879 54,744 6,865
03 2I2tel =20 i 9,135 16,000 26,865
O +%2 BI9g e dan 2e
(1,827,000 x 5% )-(2,000,0002 x8H) = 26,865




3AHEE 2011 &
ST I8Emn - man
2H = oa=EIZIHEESA (ctel @ &)
=) X =
j T As . = aa s 34||¢+<;. EE
713 b - 24| 5,334,064 | 4,754,064 580,000
200 =& 3l 3,262,836 2,682,836 580,000
206 MZHI 207,400 127,400 80,000
01 eI =] 121,000 41,000 80,000
O A o2 U7
(100,000,000 )-(20,000,000¢!) = 80,000
207 ==& WA 2,609,200 2,109,200 500,000
05 JIEtW AL 1,669,400 1,169,400 500,000
O S442 2 ANES(H+ S) S2]
(1,000,000& x 1,10024)-(1,000,000& x 60021 ) = 500,000
715 H==H==F0t2teltl 2,042,964 2,050,509 AT,545
200 2& &l 217,691 224,297 A6,606
201 2| 179,891 186,497 6,606
01 ArR22lH] 107,572 117,846  ~10,274
O &2z DXNAM M A~10,274
- SIStESEl (23.28 x805,6002)-(30@ x767,00024) = A4,320
el A4 (13.8% x 882,0000H)-(18& x 1,007,00004) = Ab,954
02 ZZeI| 72,319 68,651 3,668
O M5l4T I2T2IY SAL4H|
(1,666,002 x 122)-(1,800,0008 x 128) = A1,608
O AH & X222l SXE2H)
(140,000& x 5&)-(140,600& x 12&) = 988
O ZE2 POA € T2 S22/ A1,400
ARE(ATN, HFELE S) 7Y
(0&)-(40,000& x 350H) = A 1,400
O 423 2ozd BRI 7,664
2einia oy 3402 x 21, 240MICH = 7,222
ZHUA SX(OHIHE &) 3403 x 260 & x 53] = 442
300 B&old 6,061 7,000 A 939
303 =& 6,061 7,000 939
01 LB 6,061 7,000 £939
O 2 L ULTA AT NAR
(6,061,000 )-(200,000% x35%) = £939
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SIAE ¢ 2011 &
RSS2 P
2N AZEED -~ B4
SHPE  AREZIIYSEE el HE
i = ) g =2 3|
H =]
2 -8 -HNE .= NS e e e R
g Al 15,004,552 | 13,978,245 1,026,307
100 MH2HXE 15,004,552 13,978,245 1,026,307
120 JtSEHIAta 12,704,552 11,678,245 1,026,307
124 == 12,517,418 11,545,795 971,623
401 AlEHIS 12,517,418 11,545,795 971,623
01 Al&HI 12,481,700 11,512,500 969,200
O &=k =2 HESA 969,200
TSR S Y =22 HZBAHD=300mm, L=960)
470,000,000&-570,000,000& = A 100,000
KIS E (&8s 28) =52 HSAHD=100~150mm, L=580m)
420,000 x 580m = 243,600
AMNS Y AZHHSX LR =2t O 23 AHD=800~900mm, L=860m)
960,000 = 860m = 825,600
03 AIZ=20H8l 35,718 33,295 2,423
O 442 =52 HYTA A=Y
(7,627,200,000% x 0.25%)-(6,658,000,000& x 0.25%) = 2,423
127 3J17HI3 172,634 117,950 54,684
405 AH&HFSHIS 172,634 117,950 54,684
01 TH&HH = 116,634 61,950 54,684
(=ZE) 57,380
O dot+=z a2 AIAE WX
(31,000,000%)-(35,000,000% x 141) = 24,000
O SANSSEI| 7Y 180,000& x 34104 = 61,380
(8=1) A2,696
O HEd 0142 HYI MY
(2,500,0002 x 1CH)-(3,000,000& x 1CH) = A500
O a8y sesa)) B2
(15,204,000 x 1CH)-(18,000,0002 x 1CH) = A2,796
O &gs Mg 7L 600,000 x 1§ = 600




g A =
SIHEE 2011 B

HattE o =F2% CHY - M)

Y ol & o JI & Ol &4 SsF3 A

(A) (B) (A - B)
= g 84,331,038 56,706, 108 27,624,930
FH =2 44,514,115 44,114,115 400,000
43,130,115 43,130,115 0
1,300,000 900,000 400,000
et g = 84,000 84,000 0
I e+ 3,013,216 3,013,216 0
2,456,000 2,456,000 0
437,216 437,216 0
JEtE & 2l = 120,000 120,000 0
Azdd=s+e 840,000 840,000 0
300,000 300,000 0
540,000 540,000 0
OlE= 35,963,707 8,738,777 27,224,930
35,963,707 8,738,777 27,224,930
NI 59,357,310 57,308, 108 2,049,202
=0= 602,000 602,000 0
602,000 602,000 0
FAHE 42,878,258 41,855,363 1,022,895
25,223,158 25,223,158 0
7,521,475 7,471,035 50,440
5,334,064 4,754,064 580,000
1,456,597 1,456,597 0




SIHEE 2011 U

etz @ =2k (et : &)

Y = ol & oA JI & Ofl &4 s F3 A

(A) (B) (A - B)
d=L =ttt 2,042,964 2,050,509 AT,545
= =3 Atdl 1,300,000 900,000 400,000
AU = Al 80,500 80,500 0
Xl = 0l At 80,500 80,500 0
Sd&d Al 20,000 20,000 0
=824 20,000 20,000 0
Jts &I A& Al 12,704,552 11,678,245 1,026,307
TE=S 12,517,418 11,545,795 971,623
g8 14,500 14,500 0
S 7Hl S 172,634 117,950 54,684
HesfHass Al 1,800,000 1,800,000 0
ASHEII=2 1,800,000 1,800,000 0
oll Bl bl Al 1,272,000 1,272,000 0
ol gl yl 1,272,000 1,272,000 0
Xt H(A-B) 24,973,728 A 602,000 25,575,728




gl = Mg o (713) ™el &l £ : (201) 24 (9] : M=

Il eS| = 3
o o o s I S
= o A ¥ | = F o
, 744,036 84,744,036 0

,651,960| 22,220,435 A568,475

,834,374| 20,854,724 A 20,350

,624,392 18,644,742 A 20,350

200
2334l 799,950 820,300 A 20,350
201
2er2d 763,080 812,300 N49,220
394,080 443,300 N49,220 |02 B32g4l

@© =2Zd & AIJot=HelAld JIH - 8IIEX =4 A 24,240

A (21,392,000 x504)-J1 & (25,000,000 x 5CH) = A 18,040
O £33 2 44 SHDCS T sH
2 & (8,420,000 x 5J1)-J1 & (9,660,000& x5IH) = 26,200
@ =x3d Y 9= st =2 - 22 =0 A 24,980
O 1) Ss7 AH B3 M
Z & (210,500 x 240m)-I| & (250,000& x 240m) = A9,480
O 1t &3 ¥ a3 S4Yx EZA
2 (21,2502 x 1,000m x 2J4 & )-I| & (25,000& x 1,000
mx 2 A) = AT7,500

O g0l =0lAIE HE S A




[ EWaD |
Bo:(700) SHAETARBIE & : (710) FAUIE Mg : (713) H2lFY) S @ (208) HTHLY] (G9) : m=
3t = N E ¥ 23 3 N _ ; _
= A ol A =
2|y ME = LRI = |
1A (OR NNN NNNKL ~» DL AN A (20 NNN NNNKL v D0 A Y — A Q NNN
208
S =a] 36,870 8,000 28,870
36,870 8,000 28,870 |01 & =9H|
® sta 2 ZX Hel HIME BY
2 & (6,870,000% x 141)- J1E(8,000,000& x 14]) = A 1,130
© BE. Y4B4HT SYLY APSY
Z & (30,000,000& x 141)-J1&H(0&) = 30,000
800
0l B1 Bl 726,586 1,274,711 A 548,125
810
0l H1 81 726,586 1,274,711 A 548,125
811
ol Bl gl 726,586 1,274,711 A 548,125
27 (726,586,0002) - JIF(1,274,711,0009) = 1548, 12
796586 1.074.711 548,125 @ 0l gl bl (726,586,000& ) [ &(1,274,711,000& ) 548,125




[ SHAD ]
2 (100) HERTS & 1 (120) JtS UK Mg : (125) JIHEA S @ (401) NEHIS el H)
ot S J| 5|3 3
e WS = e R I & = | =S
100
AEHT S 54,324,465| 55,107,009 782,634
120
Jts &8l A& 36,233,044 | 36,360,524 A 127,480
125
JIAHE X 36,172,604 | 36,298,024 A 125,420
401
TS 36,172,604 36,298,024 125,420
33,086,780 33,212,200| £125,420 |01 Al&d]
@I L ABLHAANL (2o ~125,420
OABSEX 22AXNSEI HLABA
&2 & (57,800,000& x 1CH)-21 & (67,000,000& x 1CH) = A 9,200
OS2 M&2X HTS AIJDHI DHIA
273 (70,010,000% x 30H)- 71X (80,000,000% x3CH) = A29,970
OHUBHTIN 2RE 2T HASA
27 (99,000,000% x 20H)-J1F (115,000,000% x2TH) = 432,000
OSiRot+MelAlL MM HFHOE MUK 20K
77 (34,600,009 x 10H)- 71 (38,000,0008 x 10H) = £3,400
018 RUS BAX XS B+TA
23 (77,1009 x 2,000 ) J1F (90,0009 x 2,000 ) = 425,800
OBEIST FH SHOIH L 22 ATHBA
27 (633,000 x 1503 )-71 & (800,000% x 150%) = 425,050




(120) JtS&HIX Mg o (127) 3217813 S ¢ (405) MAHFSHIS ool - me
s 3|
o o &t £ pJ ES
< o o 3 o
60,440 62,500 /2,060
60,440 62,500 2,060
60,440 62,500 ~2,080 |01 XtarF Sl
© g dExd MZYS FY 4,100
O It (&, R HHIY, E52t200, 3HY)
4,100,0008 x 14f = 4,100
@asa 24 nH 7 A 1,860
OBODHH & J1 2204 W Hl
28 (4,380,000& x 37 )-J1&(5,000,000& x 3H) = A 1,860
OHERY Y AL AJNEZRXH FY
28 (43,200,000 x 104)-71 3 (47,500,0002 x 1) = 4,300
10,416,974 | 10,472,128  A55,154
10,416,974 | 10,472,128  A55,154
10,416,974 | 10,472,128  A55,154
10,140,264 | 10,195,000  A54,736 [01 Al&H
@25t IH SEHE HYSS
ZF(1,640,0008 x 141)-71F (50,000,000& x 14]) = 248,360
©Xots BRU=Y XS A
28 (52,624,000 x 141)-Z H (59,000,000 x 141) = 16,376




©(100) MHE=EXE & : (130) HIJtsS & HI XA NE : (131) HAESOIXtA = @ (401) AIEHIS (e : M9l
ot = o Il & 2 3l n _ 7 -
— A o =
33,285 33,703 A418 |03 Al =20UYI
@Kot Ex2= XS A
ZH (220,000 x 14A1)-A & (59,000,000& x 1.08%) = A418
800
ol g1yl 1,032,447 1,632,447 A 600,000
810
04l 51 bl 1,032,447 1,632,447 A 600,000
811
ol 5l dl 1,032,447 1,632,447 A 600,000
23 (1, , ,000& )-J1& (1, , ,000&) = A 600,
1,032, 447 1,632,447 A600.000 @ olgldl (1,032,447,000& )-21& (1,632,447,000& ) 600,000




[ 2017 A& ]
2o (100) RHEHXE 5 (120) DS A XHA Mg (124) 722 S ¢ (401) AIEHIS (9 mR)
o E oo |7 ¥l 3 3 o _ : _
— A o Al =
o g ME = oA« o & M| x 2y o = |
100 )
A=2HIE 3,098,231 2,441,101 657,130
120
Jt s &l Aot 3,098,231 2,441,101 657,130
124
5= 3,098,231 2,441,101 657,130
401
AN&HI S 3,098,231 2,441,101 657,130
3,082,000 2,425,000 657,000 |01 Al&HI
® =E5+3H T L ELEA
& & (300,000& x 4,400m) - 21&(300,000% x 3,200m) = 360,000
© &% B4UN BETA
2 (495,000 x 1,600m) - 21 & (495,000% x 1,000m) = 297,000
16,231 16, 101 130 |03 Al =R0HYI
® =25+2H DA L EL2A
28 (1,320,000,000& x0.36%) - J1& (960,000,000 x
0.63%) = A 1,296
® =3 542N BETA
28 (792,000,000 x0.63%) - I & (495,000,000& x
0.72%) = 1,426




5 1 (120) DS UK A ME @ (124) 252 S @ (401) NEHIES (Bl : mw
= ] 5] 2 s
o & o & e | S
= of & | x 3 o

2,408,086 2,014,107 393,979

2,408,086 2,014,107 393,979

2,408,086 2,014,107 393,979

2,408,086 2,014,107 393,979

2,391,200 2,000,200 391,000 (01  Al&HI
Of=!

JH

=25 2 M2 Y
(

_CL’_I
300,000,000& x 141) - JI&H(0&) = 300,000

Z & (350,000& x260m) - JIH(0&) = 91,000
16,886 13,907 2,979 |03 A& =04l
® NZEE L AAR LY LSHSDEUTA(HIZE)
2 (300,000,0002 x 0.72%)-1 = (0) = 2,160
® D2 St SHUIBA
21 (91,000,000 x 0.90%) - & (0R) = 819




]
© (100) R2HEX= g 1 (120) Jts &l Atat Mg o (124) 2

=g = ¢ (401) AIGHIS (e : m
o s EL [ 2 s R _ ]
A0 =
g (¥ 5 a4 o & | o= H o ~ * ’
SN 1,910,800 1,610,800 300,000
120
Jt= &l Aot 1,910,800 1,610,800 300,000
124
== 1,910,800 1,610,800 300,000
401
ANEH S 1,910,800 1,610,800 300,000

1,900,000 1,600,000 300,000 (01  Al&HI

@ZUHLE o= AIE=S ZHIZA 300,000

& & (300,000& x2,600m) - J1 & (300,000& x 1,600m) = 300,000
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